Year 3 Homework Answer:

Module 17: Problem-solving with Australian coins and notes

$109
$70.80
$14.80

101 — 54 = $47
51+21=8§72
20-4.80=$15.20

a) $40.70
b) $66.04
c) $93.02
d) $120

a) 5 cents
b) 25 cents
¢) 100 cents
d) $5.15

e) $30.05

f) $84.20

200 1000 1800

0.40 1.65 0.71

475 5.55 94




10.

11.

12.

13.

a) $11.15; $23.35; $32.60
b) $44.10; $55.75; $67.95
c) $72.40; $81.30; $93.45

a) $13.22; $13.20
b) $10.56; $10.55

99 - 67 = $32

132 -14=$118

24 + 82 = $106

319 -289 = $30

a) five $2
b) twenty 50 cents

a) 0.55 + 0.90 = $1.45
b) 0.95 + 0.75 + 0.75 = $2.45
¢) 0.90 + 0.55 + 0.95 + 0.75 = $3.15

d) Answer may vary



